(0 @) (rad)

=
<

a(d cot(d))

1072

2
== § M:V\V/B% 355888888@:“@@ §:ﬁ EI ﬁé‘%”'“r'%eco
—— D M:V888 :R888888881:8 obal—m F! NewDetq —Ri
—— DOM—V0001-R000000001—Global—mkFitNewDett —REC
= 1= —~
= : IS
2 e
> >
=]
=2 =2
) L ©
107
1072
: + : : S
_ b _
910\1%_ 1 |||||||! 1 ro bl 1 ||||||! L 910\1%_ 1 |||||||! L1 1 ||||||! L
I r I r
nd [ @ L
1_— -------------- PONOWPSED0 00 W R ARCERERLREED 1_— ------------------ <. i
0.95C T = 5 0.95C T = 5
10™ 1 10 0 . 10° 1 10 0 .
TPp, (PCA tlo beamline TPp, (PCA t]b beamline
~ 1
o :
-
o
o
<3
5
107t

1

I : 2 3
TPlpg)T (PCA t%)obeamlin%)o



	Contents
	Page 1


